
Elixir 2 2017
Pole Set 06210

# Pole Segment

1 PF8.5 x 370mm Insert

2 PF8.5 x 370mm

3 PF8.5 x 405mm Insert

4 PF8.5 x 410mm Insert 

5 PF8.5 x 430mm Insert 

6 PF8.5 x 430mm 

Letter Part

A Plastic End Tip black 11mm

B Swivel Hub 8.5mm

Section Shock Cord

Ridge x2

Spreader

Total

1 23 3 3 3 3 3 3A A3

1 23 3 3 3 3 3 3A A3

4 5 6

13'
4'
30'


